Combustion Analysis Problems Set 1

1)   122.3 mg of compound “A” undergoes complete combustion to produce 

       421.7 mg of CO2  and 64.7 mg of H2O. What is the empirical formula of this 

       compound?

2)   A 5.0991 g sample of compound “B” was quantitatively burned in excess oxygen.  

      The carbon dioxide and the water vapor were trapped and their mass was determined. 

       The mass of the CO2  was 7.3504 g and the mass of the H2O was 3.7612 g.  What is 

       the empirical formula of this compound?

3)  In a separate experiment the molar mass of compound “B” was found to be 

     approximately 120 g/mol. What is the molecular formula for compound “B”?

4)   A 251.8 mg sample of compound “C” undergoes complete combustion to produce 

      503.1 mg of CO2  and 205.9 mg of H2O. In a separate experiment the molar mass of 

      compound “C” was determined to be about 80 g/mol. What is the molecular formula 

      for compound “C”?

